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QUESTION 1

Generally speaking, should the monitor templates be used as production monitors or should they be customized prior to
use?

A. Most templates, such as http and tcp, are as effective as customized monitors.
B. Monitor template customization is only a matter of preference, not an issue of effectiveness or performance.
C. Most templates, such as https, should have the receive rule customized to make the monitor more robust.

D. While some templates, such as ftp, must be customized, those that can be used without modification are not
improved by specific changes.

Correct Answer: C

QUESTION 2

You need to terminate client SSL traffic at the BIG-IP and also to persist client traffic to the same pool member based on
a BIG-IP supplied cookie. Which four are profiles that would normally be included in the virtual server\\'s definition?
(Choose four.)

A.TCP

B. HTTP

C. HTTPS

D. ClientSSL

E. ServerSSL

F. Cookie-Based Persistence

Correct Answer: ABDF

QUESTION 3

When using the setup utility to configure a redundant pair, you are asked to provide a "Failover Peer IP". Which address
is this?

A. an address of the other system in its management network

B. an address of the other system in a redundant pair configuration

C. an address on the current system used to listen for fail-over messages from the partner BIG-IP

D. an address on the current system used to initiate mirroring and network fail-over heartbeat messages

Correct Answer: B
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QUESTION 4

What is the purpose of provisioning?

A. Provisioning allows modules that are not licensed to be fully tested.

B. Provisioning allows modules that are licensed be granted appropriate resource levels.

C. Provisioning allows the administrator to activate modules in non-standard combinations.

D. Provisioning allows the administrator to see what modules are licensed, but no user action is ever required.

Correct Answer: B

QUESTION 5

How is persistence configured?

A. Persistence is an option within each pool\\'s definition.

B. Persistence is a profile type; an appropriate profile is created and associated with virtual server.

C. Persistence is a global setting; once enabled, load-balancing choices are superseded by the persistence method that
is specified.

D. Persistence is an option for each pool member. When a pool is defined, each member\\'s definition includes the
option for persistence.

Correct Answer: B
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